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Which of the following is a non-metal? -~ . 1.
(A) TIron
(B Copper.
(€) Oxygen
(D) Silver
What * is - the chemical formula for 2.
~ gypsum? '
(A) CaSOs
B) CaS0,-2H,0
(C) CaCOs
(D) Ca(OH):
. The process of conversion of sugar into 3.

“aleohol is known as :

N

®

()
©)

Which of the following is not a
-greenhouse gas? ‘ :

(A)
®)
(C)
(D)

What is the SI u-nit‘of force? - b,

A)
(B)

©

@)

Fermentation
Photosynthesis
Respiration

Combustion

Carbon dioxide
Methane
Nitrogen

Water vapour

Newton
Joule
Watt

Paécal

4.
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(A) CaSOq4 _
(B) CaSO,-2H,0
(C) CaCoOz

D) Ca(OH)z-
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6. If a triangle has angles 'méasuring 45°, 6. R (Epes(ﬁasrrsﬁurggcu 45°, 45° oppin 90°

45° and 90°, what type of triangle is it? Conasrmad @HETH, SiF  THs. @iws
.' ‘ s p&GaHTemTiD 2 _
| (A) Equilateral ‘ I : .(A) FLOLESLD |
‘ (B) " Isosceles - B . (B) @@émuésaaib
C) Scélene o (@) wsoussd

(D) None of the above _ (D) Cupsar_ r.irgumfn. @Beenav

7.. What is the value of %y’ in the equatlon 7. 2y"-5=13 erenp - FETUT S Y’ @m

2y*-5=13% 7 _ - ’ - w lULY erémem?
w 4 . @ 4
® T e ® 7
© 3 - B - © 3
@ 11 - - | o 11

8.  The perimeter of a square is 36 cm. What 8 ‘@_@ &@U‘E,g}m shpaTay 36 Qs.15. 5@5@(@6&

is the area of the s'quare? : UFLILGTE| eTees ?
@) 36cm? | | (&) 36 QB2
(B) 81 cm? . (B 81Qs?
(C) ,324om? i S (O 324Qede

(D) None of the above 7 ' (D) Cupssr_ ege|b Gdme

9.  WHat is the value of ‘4’ in the eqﬁdtion 9 9% +3 =+/295 aramm &Loamurn_Lq_a) o @m

2x+3=\/ﬂ?' : o iy GTGHTEN 7

@ 6 o w6 -

B 7 B T

©s © 8

™ 9 | | ™ 9

10. V_If the quadratic equation 2x* - 4x+2=0 10. @@mugs soeun®  2x°—dx+2=0

is solved, what are the roots? - STESULILLITED, SISET (POBIGET WITene 7’ '
A) x=1x=-1 - - @) x=1x=-1
® x=1 L ® x=1

© x=05 © x=05

(D) Norealroots =~ " _ (D) o emewWTET GuirEsDh Eevane
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11.

12.

13.

14.

15.

- (B)

o)

e

@

Who said Imperlahsm is the hlghest 11.

stage of Capltahsm‘?
(A) Lenin
Marx
(8] Sun Yat Sen

Mao Tsetung .

Who was the
Unlted States of America?

@)
B)
©
D)

Thomas Jefferson
George Washington
‘Abraham Lincoln

‘ John Adams -

The ‘Quit India Movement’ was launched 13.

in which year?
(A) 1935 .
(B) 1942
(C) 1947 .
1950

Who drew the attention of. the British to - 14.
Cul@fEn dleusmufseaien Qeanandaer &HoS

the suffering - of . Indigo Cultivation
through his play “Nil Darpan”?-

Dina Bandhu Mitra

Romesh Chandra Dutt

Dadabhai Naoroji-

(B)
©
D)

Birsa Munda _

The term “Democracy 0r1g1nated from 15.
" which language?

®)

Latin
Greek
Sanskrit
French

B)
©)
)

o)
flrst Presndent of the . 12.

@

()

- D)

‘garglusS b wpaareiggiolssler

2 FESLLID erand SnhlleuT Wi ?

A)  Gaefler
(B)

©

LOTT&ED
Far wrl Clgem

on Cagymi

é{@l.ﬁﬂé;a;rrafﬂeirr s marmdud wmi?

smod Qs
®)
©
M)
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(A) 1935
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(C) 1947
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16. Which of the following is not a landform? 16.

(A) Plateau
(B Peninsula
(C) Glacier
(D) | Tornado

17. The Equator passes through which = 17.

country?
(A) Brazil
(B) Egypt
(C) India
(D) “Canada

. 18. What is the largest fresh wat_ér lake by 18.

volume on Earth? -
(A) Sambhar Lake
(B) Lake Baikal
'(C) Caspian Séa
(D) Wular lake

19. Which river is known as the “Sorrow of 19.

Bihar®?

“(A) Ganga-
(B) Kosi
(C) Yamuna
(D) Ghaghra

20. W};ich of the following is a renewable 20.

~ resource?
(A) Coal
B) Oil

(C) Sunlight
(D) Natural Gas

HG-1/2024 | 6
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21.

22,

23

24,

25.

‘ (A) = Pongal

"Who among the following decides‘ - 21,

whether a Bill is a Money Bill or niot?

(A) The President

(B) The Attorney General

(C) Parliamentary Affairs Ministér_
(D) Speaker of Lok Sabha

Which river is the longest river in Tamil .22,

Nadu?

(A) Kaveri

(B) Vaigaﬁ~

(C) Palar

(D) Thamirabarani

Who was the founder of the Chola 23,

dynasty?

(A) Raja Raja Chola I

(B) - Rajendra Chola
(C) Parantaka Cholal
(D) Vijayalaya Chola

Which \f;estival is celebrated during the 24.

Tamil month of Thai?

(B) Dusshera

(C) Navratri

(D) Deepavali

AYV. Murugaiyan from Puducherry was 25.

awarded Padmashri in 2022 for hlS
contribution in the field of .
(A) Agriculture

®) Social Work

(C) Art |

(D) Literature and Education

) m@&rrg,rrsm@ {rf,]‘eﬁ Camgreir Hs)
@sr wCsrgralr eran Srnrafls@h ogarmbd
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(A)  arGaud
(B) aeaas
© umang
D) smdlyuyent
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®) §rGusHy Gemper |
(C) urpmbses Gemper 1
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26. lWhich' of ‘the following is a vector 26. ‘9@“”(5@5”@.@@@_5]@5“6“ S| GTH?

quantity? o

(A) Mass : S - @) pep
(B) - Volume - | ® Gsres
(C) Speed | o (©) 'G'@aﬂb

@) Force o D) s

27. What is the chemical formula for table 27. Guwes el eaaugear Gaiflullwed oG

salt? _ o - ereinen? :
" (A NaCl- | (A) NaCl
(B) HCI - 7' . ® Ha

© NaOH . (© NaOI
™ HSO: (D) HSOs

28. The World_‘EnvironmeI‘lt Day is on . 28 2@& s&hpé@yped Seambd

(4) 34March &) wmi o Sy Cad

(B) 4t April | B B)  gurd wisn deyb Csd
(C) 5%June . S (©) ggren wrsd Sy Csd
(D) 6t July ‘ | ‘ | (D) gO@e wiisb G%mcgg
29. What is the pH value of pure Wéter? | 29. g,fru_l Sfler pH iy ereman?
@ 5 - g @ 3 .
@B 7 | S ‘B 7
© 9 | O 9

D) 11 ' . : D) 11

- 30. What type of bond is formed between the 30. f}ﬁ:'@@t‘?&‘-@@ &G‘T@” ADLGRET  WwHHILD
hydrogen and oxygen atoms in a water N gpallger sapss@se QoL Cu eaner

molecule? 7 GUEDEHTET WenemTiL| 2 (Heurdlmgi? |
(A) Tonic bond B o @) swel Gaeriy |

B _ Covrale'rnt_ bond o | , - (B) Gsreueerl Senamriiy -
| (C) Hydrogen bond = (C) el rgmen l_fﬂsmwrﬁq

(D) Metallic bond IR D) o CGoret Goeriy
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31 What is the value of 2’ in the equatlon :

32.

33.

34.

35.

5z -8=(3)?

qey

(B)

- ©
D)

7
8

" 49

64

If a 01rcle has a diameter of 14 cm, what
is its area? :

0

®)
©)
)

What is the value of ‘¥

77 ecm?2 -

‘154 cm?

308 cm?

None of the above

in the equation

¥y -4y=07?

(A)

B)
©

D)

0
2 -
-9 .

_AllL of the above

A train travels 60 km at a uniform speed.
If it had gone 5 km/h faster, it would .

have taken 2 hours less. What is the

speed of the train?

(&)
B)
©

(D)

10 km/h
20.km/h

30 km/h

40 km/h

What is the next.term in the Sequence? :

1,4,916, ..

N
®B)
©
D)

20
25
36
49 -

31.

32.

33.

34.

35.

5«/; -8= (3f eremp sweTLT g6 ‘z;

&Ly erabree ?

(A

®)

- (©)
o)

7
8

49
64

om el LgHar el 14 G558 Q@psTed,
DIBG LFLILIGTEY erean ?

4)

B)
(®)

)

y3—4y_:0 GTGND  FLDEHTLIML .60
&L eTeer? - -

(A)
®)

(0
o)

77 Q.62
154 Qz.152
308 Q=182

CohserL erglab @deme

0.
9
9

CuhaserL. Henardgib .

enm @ruid Gy Eyme Gmasg,g,]'eb 60 £.8.-a
Qedlpg. wallsEg 5 &.0 sabisd Gauswrs

Qeendmpare @ran® wenfl GCprb Gepeuns
Qeandlmagn. @ruider Gaisn erenar? -

»

(B)

N (®)
e
@hs wuIf)
.1,4,9,16, ...
A

B)

(©

(D)

warlé@ 10 £.65-
efléE 20 £.15
aflé@ 30 8.8
wenfléE 40 &.15

anaulléd E\ES eTei aTaTe ?
20
25

36
49
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36.

Which Indian state is known as the

“Land of Five Rivers”?

A
(B)
©)
(D)

37. The

war?

(A)
(B)
(©
)

38. The

Punjab
Rajasthan
Uttar Pradesh

Haryana
Treaty of Versailles ended which

French Revolution
American Revolution
World War I

World War IT

Battle of Plassey was fought in

which year?

A
" (B)
(©)
D)

39.

The “Reign of Terror is associated w1th

1757
1857
1939
1914

Wthh revolution?

A)
(B)
(©
O

- 40. The

Am._erlcan Revolution
French Revolution
Russian Revolution

Industrial Revolution

term  “Cold” War” refers to the

geopolitical tension between which two
powers? ‘

@
(B)
(©
0)

HG-1/2024

United States and United Kingdom

United States and China

Soviet Union and: China

TUnited States and Soviet Union

10

36.

37.

38.

39.

40,
' &5,5]&5@5@5 @ leoren yellgrt <pdluid

L (©

“mig pdsailar Hlob” ety i pssL@LD
Gislw wrlab erg 7

(A)  ugpeml

(B) | Urrgshggrre'trr .

(©C) 2 58r0 ArCsaib

D) epfwrrenns

Qeuramish ! 2L Glg&Eas  eIhgl | Gumreniy
WPlee|d@ Dsran® eubss ? '
@) GQres LA

B)  =Qwilssy Ly 8

_(C) Wwsamb sl Gurf

(D) Rlyar_mb e st Gum

Gerrél Gunir TS <parh BanLGubpg ?

1757

(A)

(B) 1857

(C) 1939

D) 1914

LALITRIST t%L__(‘.ﬂ Gr‘l_%g, Lgm'_ﬁmpeirr
Qame T eni_wig ? : '
(A). =Cufssy gy 4

B GGres yred

(© Jeipw LA

(D) Qzmfa yyé

“LefluGun”  eraimm G&rreu THS @UGUBT@
UBDDSSE @@asaﬂ,m@?

A)
(B)

=iGwfléar whmbd gsdu @Urrgg@u_lm ‘
< QufésT wHmib erm
Gerallug wellwer whmpn e
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42.

' 41. The Deccan Plateau is rich in which type 41.‘

of soil?

(A) Alluvial soil -
(B) Black soil
(C) Red soil

(’D) Laterite spil

Which Indian state is the largest 42.
producer of natural rubber? '

®

- (B)

43.

44.

45. .

©

(D)

The Great Barrier Reef is located off the 43..

Tamil Nadﬁ
Karnataka
Kerala

Assam

coast of which country?

The Tropic of Cancer passes through’ 45.

(A) Australia

(B) Brazil-

(C) Indonesia )

(D) dJapan

What is the capital city of Cariad'a? 44,
(A) Ottawa

(B) Toronto

(C) Vancouver

(D) Montreal

which Indian state?

(A

®)
©
®)

Gujarat

Maharashtra
Odisha -
Uttar Pradesh

11

ssara Syl aps aesumen woei @b

Qaramg? -~

(A)  euekhied LD GGt

B) sfled wan

(C)  Seutiy weir

(D) GeolLenl wekr -

ér;_’r;g, @Qpdu  wrhlogdd @upas FUUT
eiflaerey 2 pusd AawnuEADS?

A)  silpprh
(B) sapmsm
(&) .(Saaqmrr .
(D) S|

QuEBsGLUL  ueaaTESLB by Brilger
sLbhE@ Ao enLbgieTersg ? ,

(A)  oyevSGreilum
S(B) 9Crae
(). @BGsnGanflur
D) some

sarLmaSet SeORBEIID 615 ?

(A)

QL LTeur
B) .Gh;rrmredw@u'r
(C)_ GUTEIT &R GUIT
D) wran fid

&8 Grens Gr;'r;g @pHwu wrfasder anduirs
Qeading ? : :

Q) Ggrs
(B) wa&Tymeigg T
©  gusr

Dy

2 5701 WgGsebd
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46. Which of the following is the largest
~ organ in the human body?

(A) Liver
. (B) Skin
(C) Heart
(D) Brain

47. ‘What is the chemical symbol for gold?

(A) Go
B) Au -
C) Ag -
D) Gd

. 48. Which blood group is known ‘as the'

universal donor?
(A). A+
(B) B+
(C) AB+
D) O-

49. What is the process of conversion of
water vapor into liquid water called?

(A) - Condensation:
(B) Evaporation

(C) Sublimation
(D) " Precipitation

,50. What is the function of the nucleus in a
cell?

(A) Energy‘production
(B) " Protein synthesis
(C) ‘ Genetie control

. (D) Waste elimination

HG-1/2024

47,

48,

12

46.

eireu (peuareun Hled weflg | o Lalled
BlstiGuflu 2 oy ergl? '

(A)  sddye

A (B) Gara |

49.

50.

© @sun
D) apever

gmesglar Gaflulwd GHuSE ererar?

(A) Go
(B) Au

© Ag

(D) Gd

2 eaEarraiul. 6Tl & mem L_wimermi GTatT]

SPESLILIHLL QIsss &P 6r5l 2
Q) A+ ‘

(B) B+ -

© AB+.

®) O-

ﬁgn@ﬁ]mm Slreu Byns  wrhpib @&u.mqusmm
TG GTEH am@&&uu@aﬂmg'p

(A) @OEsD

B) yellwurged

(C). LISEISLOTSED

D) QSIIEPULq_@JW‘&;GD

@@ .. Clodadld 2drar . =iemds(maden
GEuIUTH erean? g ‘
D) oo 2 pUgs
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Bl

52,

53.

54,

55.

- ®)
©

o)

A .

‘Solve the system  of

the values of x and v7?

(A) - x=2,y=5‘
B) x=3 y=4
(©) x=4,y=2
D)y x ='1, y=6
If a triéngle has sides measu_ring 3 em, 52'.
4 cm and 5 cm, what type of triar;gle‘
- is 1t?
(A) Equilateral
(B) Isosceles
(C)" Right-angled

None of the above-

Whaf is the valﬁe of ‘4 in the equation - 53..
2(x® —3) =107 |
A 1. : '
® 2 |
(¢ 3.
D)y 4
If the base of 2 triangle is 6 cm and 'the‘ - b4

“height is 8 em, what is the area?

12 sgem .
® 24
(©)
)

24 sq cm
32 sq cm
48 sq cm

'What is the sum of the interior angles of - 55,

a hexagon?

(A) 360°

< 540°
720°

(D) 900°

13

equations: 51.
Bx+2y=16 and 4x-y=3. What are '

- (B)

©

@)

®)

: ®

&msﬁ‘run@a&dﬂs&’r &mmumug Sr‘ra‘;a;ml_b
3x+2y=16 wombd 4x—-y=3. x wHHD
¥ -6 WSl seT eree?

(A) x=2 y=5
- (B) x=3,y=4
Q) x=4,y=2
D) x=1,y=6

om witsransdd 3 Ge.5, 4 Ge.S opmih
5 Qg5 sjaradrer LSSRISET B HHETD, Sig
ThE eueEWITer (psEETamTD? _

(A)j soLESD

@ @ELIUSSD
Qi Gamermib

©.
o)

Copsem Grgdaﬁb Edvensn

2(x*-8)=10 eTeTp  FIDETUM g ‘X Eei -
LI eTeren )

(B)

ST G T N Y

(D)

@M p&ECanansern aquu@ﬁ 6 @ELS

ppmid 2 Wb 8 Qz.8. eralld,; uquum@.l
" GTGHTEn 7 .

@

12 6@& Q.18
24 sgly C&.5
32 égjrj Q&8
48 gy G&.18 . _ '

(B)
&

'g@@&nmw‘&,ﬁé&r .o Camanrmis et

Fo.L.HSCGTEnG Grebran?
(A)  360°
540°
720°

900°

(C

’
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56.

57.

58.

59,

. 60.

™

Which country is known as the “Land of
the Rising Sun”?

(A China

B) J apan _

(C) South Korea |
Vietnani

The. Batﬂe of Waterloo was fouéht in
which year? .

(a) 1701
(B) .1805
(© 1815
D) 1914

The concept of Fundamental Rights in

the Indian Constitution is borrowed from -
~the Constitution of :

(A) TUSA
® UK
(C) Canada
{D) Ireiand

The term “Renaissance”
revival of learning and art in which
region? '

(A) Ancient Rome
(B) Ancient Greece
(C) Medieval Europe
(D) Ancient Egypt

What is the currency of Russia?

(A) Ruble
(B) Euro
(C) Russian Dollar

(D) Russian Poﬁnd

HG-1/2024
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58,
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56.

59.

60.

W
- ®

‘@ fiush 2 flé@n Blan” GTEHG
cﬂqsmapésas_uu@l_b BTG eTg) ? '

(A)  Feorr

(B)- g%uurr&ﬂ

© Qgen Qemfiur -

(D)  eAw pmd

eurl_Ligyr GuimT eThg earh HantGlunng ?

(A) 1701
(B) 1805
(©) 1815
)

1914

@B sirfwuamsinbd o drer éqtcyuuem'l_.
2 Mewinger GTGTD S eTHS
SirflweenolSlalmha GuDLILL L g ?

(A =Qolssr
B) uGs

(Cj S@TLIT

(D) enwrersg

“opiwarsdl” erep Camd erpsl LGS e
sHDe) wHMD  Emeoullar  WoiaTFSmLE

- efladlng
LIG&UTGD’)-I_U_I Grmb
Lairenw Afed
(Cy - (@ml;é;a;ﬁcu eGrroiun
(D) LictTen L1 erdltig

TEpWTeSl6 BHTeRTILD 6Tehmes ?

(A) @Qm

S (B)  wCyr
(®)] ‘ gL |_‘rrGDr'r,
D) peipw Leyehm



61.

62.

63.

64.

65.

- (®)

Which is the second highest mountain 61.

peak in the world?

(A) K2
Mount Everest

(C) Kanchenjunga '

(D) Lhotse

What is the capital cify of Brazﬂ? | 62.
(A) Rio de Janeiro
' (B) Brasilia

(C) Sao Paulo

. (D) Salvador

The Amazon River flows through which 63.

continent? - :
(A) - South America
(B) Africa
(C) Asia
- (D) .North America -~

Which desert is the largest hot desert in 64

the world?

(A)  Gobi Ibesert _
(B) Sahara Desert
(C) Arabian Deésert
(D) ZXalahari Desert

The Great Lékes of North America are 65.

located on the border of which two
countries?

7N
®)
©)
)

United States and Mexico
United States and Canada
Canada and Russia

United States and Cuba

15

A

o codle @) reTL_TeUg) 2 WITONET Lae Sl&FD

eTEl?

4) K2

(B) sreu@yevr. Asyid
(C) sErsargrusT
(D) Ceor Cs

9Grélelleln ganapad eTgl?

(A ACwr . Qg@ﬂ@ﬁn
(B) . GCrédun |
(®)) | FMGI uera;vrr

(D) EWG'OG]:IL_.FFF'I'

2Gwerar b THss samL o umiidpg 2

@)

Qe o|GWwMssT
B) ulfssr
© ey
O | L oGwhssr

o_ewdler Wsl@Quflu Qeuliul LreeIETD
6TH? : ‘

Gamdl ureneoeUaTd
B) sapmyr LITenaue LD
(C) =Cniwen uremoeiad
(D) swapmh LTE®EIGTLD

oL =Guwhsaralar 87 Gade ahs @
prhaafien erdvanauller rewpgidTeTen?

(A)  <QuissT wpmbd CLsACST
(B} =Qwofssr wpmib semm
{C) serLrm wppb FewIT |
(D) HGwisEsT wHmb EyLur
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66.

- 61.

68.

69.

@

was

Alliance
launched by India in partnership with

Intern_ational Solar

which other country?

USA
(B) Japan’
(©) France
(D)  Australia’

What is the main function of the red

" blood cells in the human body? -

(AY Transporting oxygen
Fighting infections
. (C) Producing antibodies .
: '(D)‘ Fﬂteriﬁg waste

What is the functional wunit of the

 kidney?
(A) - Alveolus -
- (B) Neuron
- (O) | Néphron
(D) Villus |

Which i)rinciple explains the buoyant
force experienced by objects in a fluid? |

(A)
(B)

©
D)

Pascal’s principle
Archimedes’ principle -
Bernoulli’s principle |

Hooke’é law

HG-1/2024
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$ 66.

67.

L ®

69. .

16

sleuGEe Gemaort ani.i el eTHe B (b

@_Gmmrﬁg;j @sHwrened QsTrisliul g ?

(A =Quiss ga;a'u Br{EeT
(B) suwumer

© anémfu -

) apeGrdur

wefls 2 Lefld a_dtar @Irss Aealiugusseiar

apSsdw Gawdun@) eremer?

(A)

PP ———
‘-(B)  CpmisQsmhpismen TETEE
 Curipse
(C c‘?__{,GifTiq_UlTLiq.é&Gﬁ)GlT 2 (Ha &GS
(D) |

- aflesmer cug.sl (R

é]guf,q&;@sh QruDUTL () <2160, erabran ?

(A e Guwmeanen
By
(C)  Qpsiigmer
(D) elleenesv
@0  Sreusdla o der @Llﬂ'@l'_a;@mre'u

Sigyuaf&siu@ib uS]g,Dq cllangenl  eThss .
Ganetens elers @ na 2
(A)  urevsdler Gardrma

(B) %ﬁésé]ﬂlq;sfu Qs merens

(©) QuiGemaar Qsramas

(D) @ve’seh)—.eiﬁ 2



71.

79,

73.

Wlﬁch hormone is responsible for '70
regulating blood sugar levels? ‘

(A

Adrenaline
(B) Insulin
(&)

D)

Thyi*oxine

Estrbgen

If a man can complete a work in 12 days 71.

and his son can complete it in 24 days,
how long will it take for both to complete
the work together? :

@A
B)
©
D)

6 days
8 dafys -
9 days

10 days.

The sum of two numbers is 27 and their 7.

product is 182. Find the numbers. .

(A) l1iland 16

. (B) 13and 14

(C) 12.and 15

(D) 10and 17

What is the area of a square ABCD if the 73.

length of ACis 542 Acm? o

(A) 1bsgcm
(B) | 20 éq cm
(C) 25sgem

(D) 30sqcm

17

®)

(O
(D)

@g‘ej;g, FTEEMT  <eTeneud 55"—®UU®§>§]L.D-
@ mrGLDTesT 6Tg! ? C

&) o Aardian
(B) @) airarabl
(Q) Anso)‘e»_sUrre.isa;nilsiﬁ. )

(D) e L_G TTEREH

om  weflisamd QR Geumadrenw
12 BT SaHgID, Sleueg]
24 prisadlgb Qslg P4&s WaHSTe,
Qmemb Goiby  Gameamu.  (PEs

L_Dasaﬂrrsb

CGTHSMET HTLGET DLGLD?

4.
(B)

6 prse

8 prlger

(C) 9 priser

D) _1_0 BITL_&HET

@mﬁw@ aransaian st H50smems 27 wHHID
eupder  QuUESSD

LIG0&Er
SeQeuarsmar Gam_Hluialb.

A)

182 erefldd
11 wHmb 16
13 wpmn 14
©)
®)

12 wpmib 15

10 wppi 17

ABCD-erétuigl  @(® é@g{&,;ﬁs&r ELOEHEIEGT,

AC—dr fard 542 Qoif ol sgsfen

!,nsz'Juma_] GTEOTENT ?
(A)

®)

15 &g,}g AERTY
20 sgiy Q&5
25 gy Q&b

30 #giy Qe.6
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In a right-angled triangle, -the side

opposite to the right angle is called the : -

(A)
(B)
(©)
D)

75.

Hypotenuse

Tangent
Chord

None of the above

If the perimeter of a rectangle is 36 cm

and its - length is 12 ‘om, what is its
width? '

@
(B)
©
®

6.

6 em

8 ecm

10 cm

12 em

The Indian national anthem “Jana Gana

Mana” was written by:

N
®)
©
D)

on:

A)
®)
(©
™

Rabindranath Tagore
Bankim Chandra Chattopadhyay
Sarojini Naidu

Subramania Bharati

The Constitution of India was adopted

15t August 1947
26t January 1950
26t November 1949

2nd October 1952

HG-1/2024
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74.

75.

=]
_—Q

(B)
(G

&)

(D)

20 CemuGarar  wsCaramsdld, ceg

Ceramgdng Gy o drer u'é;a;mrre;ng:
(A)  srewrd

AL IAIEET

B ITegT

(D) - Cuopseir_ ergeab Elévenew

@@ Gscueuagdlen smpeara) 36 Q.5 wHmib
2igar Semd 12 Qs erepad, @igen @solb -
ereen? -
(A) - 6056
(B) 8 Qs.8
© 10 Qs

(D) 12 Qz.f

Qpgu  Gzdlw &z . “mer  sar  wen”
ergpdweui: ' '

Q) geSpymis sremi

B) vadb sbdy s GLrUuTSWLMG -
(© &Crrefaf sry®

D) sogwesiu L.

B éirreﬂmwmuu
qﬁ)gjésﬁa;rrmmuuLL_gj

g seviH 15, 1947
®)  sgereifl 26, 1950
(©)  meubLr 26, 1949

&HGELTLIT 2, 1952



78.

79.

80.

~ 81.

@

o)

©

The “Indian National Congress” was 78.

founded by:
(A) Mahatma Gandhi '
(B) | J awailarlal Nehru
©

(D)

Dadabhai Naoroji

A.O. Hume

The term “Preamble” in the Constitution 79.

of India denotes :
(A) Introduction
(B)
(©)

D)

Conclusion
Body

None of the above

Which Indian state is bordered by three 80.
" countries? ' '

Gujarat
®)
©)

Punjab-
Nagaland

Arunachal Pradesh |

Which of the following states has the 81.

longest coastline?
(A)
B)

. Kerala
T_amil Nadu
Andhra Pradesh

)

Guj arat

19

(©)

(©

“@ﬁr;é\tu C"S.gé]u_l a;rrréJQUGhJ"
Blyeuiuci g ¢

(A)

WITTTED

&THON &THS
®B) - geuaniamed Chm.
STSTLIML QrerGrred)

D) . eflud

Erdu sirdlueeaolidio “QALmbQer sremp

 Qendd ereng @HESDSI?

@) GpaTgIany
(B
©
@™

(tPlgeeni]
216D

Cuphsam_eubbled ergiayb @Gusma)

ey Brpsaflan eraenauiids o drer @ndu ‘
wEleb gl ? '
@) e

(B)

LIGHETL
BTSTE0 THE!

(D) a@mn&&mﬁ @« J@;g;&Lb

el LD Gr‘r_'r,g,- LDIT‘I'_F)]GUL'D‘ u'fﬂa;‘ Semomer
asl_g')assﬁ)_rjmﬁw; Qeremperarg?
&) Gayorm
B sblpprd
©)  eypdrdyGssid
© egis
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82. What is the capital city of = 82, wafliyfdr swapsyd ag?

Manipur? .

(A)  Aizawl ' : (A meveurd
(B) Imphal | o ® @oure
(© Kohima - © Garaflior
(D.)_ 'Itanagar -. (b) @ L_mpait

83, The Nobel Prize 2028 for Literature was 83. - @cnésé]u_lg(éﬁmasrrm' 20231p e Grmue

awarded to . ufle _ D65 (@H& S,
_ : QULDRIGLILILL g). '
- (A) Jon Fosse : , o ' (A)  grer GuravGay
(B) Narges Mohammadi o - (B) pritsed wpsiod
(C) Claudia Goldin - . (©) . fermqwr Canagan
(D) Katalin Kariko : ' (D) sLebler &rﬂ@a;fr

84. Which state was recently in news for 84. BavGrrefih Brai_reug) @9@@@-'6*]
setting up a second spaceport for ISRO? - Beoaud  siomviuspars  sbusdao HE .
, ) . ‘ '  rilen @&u;g‘,]ﬂeu CA[TS @u,r_n,r_r)gj?

(&) Tamil Nadu - : : @A) 5850
B Karnataka S ® siprisr
(© Uttar Pradesh , : | V(C)' 2 5570 195Cseid
D) Rajasthan - | D) grgasren

85. The Sundarbans Delta is located in | 85, &hsyeus Q'—G‘J'—” ”,'5.‘5 @E@”—' mn;ﬁ]eug,‘é,]w

which Indian state" B | . SIPIDBFIETATE ? _

(4) Odisha . B guer

(B)  West Bengal EE ®) Cuope ertismand
(C) Kerala _ ‘ ~ (C) Gayar

(D) Andhra Pradesh - ' ) c%ﬁ,gr}u GyCasid
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86.

88.

89.

What is the correct past tense of the -

“verb “to go”?

(A) Gone
(B) Goed -
© Wer-lt“
D) Go

Identify the correct sentence :

(A) Heis good at playing piano. ‘

, (B) Heis good in playing piano.

(C) He is good on playing piano.

(D) He is good from playing piano.

Which of the following is a synonym for

“happy”?
(4) Sad ]
(B)' Joyfql
(O Angry
(D) Bored

What is the plural form of “Goose™?

(A) Goose
(B) Gooses
(C) Gander -

. {8)] Geese

21

91.

92,

90. The correct sequence in which words -

- appear in the sentence “The young girl

sang beautifully” is as follows :

(A) - Adjective, Noun, Verb, Adverb

(B) Noun, Verb, Adverb, Adjective

(G J Verb, Noun, Adverb, Adjective

(D) Adverb, Noun, verb, Adjective

Which of the following is a conjunctioﬁ?

(A) And

(B) Qulfckly

(C) Nice

-(D) | Run

Select the correct spelling :
(A lNecessery
(B) Necessary
(Cj Ne_ces_ssary

(D) Necesary 7

93.  What is the superlative form of “good’;?

“(A) Gooder

(B) Best

~(C) More good -

(D)- Goodest

HG-1-1_2024,



- 94, Identify the preposition in the following ~~  97. Which word is the antonymi of “brave”?

sentence:

(A) Fearless

“The bock is on the table.” .
(B) Cowardly

&) bopk (C) Courageous
B) is ' (D) Bold .
(C) on _
98. Identify the adverb in. the ‘f(.)llowning

(D) table sentence :

“She sings beautifully.”

(A) She
95. Which ‘ sentence is grammatically (B) Sings
- correct? (C) Beautifully
(A) She don't like ice cream o - (D) Sings beautifully

(B) She doesn't like ice cream
. 99. What is the comparative form of the
(C) She isn't like ice cream - adjective “happy”?

(_D)l She hasn’t like ice cream (A} Happyer
{B) Happier
(C) Most happy -

, . : (D) Happyest
96. Choose the correct form of the verb to )

complete the sentence: “He

to the store yesterday.” 100. Select the correct sentence:
A G | (A) The dog barked loud.
B Goes (B) The dog barked loudly.
' (C) The dog barked loudness.
(C) Gone
(D) The dog barked loudful.
(D) Went ,
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